2025-09-26

KRS731K+v b

[kt 73%]

8) RE~AFHYF v

KSS-HEX
KSSm

CTHBEOBIIZ B L0ES LFEHD
CEEE BB W LET, STORE T15) &5
EH KT EFHHEH
XA RICERORNRIL., HRALO/-OFELMK - TEEEBETHIENATIVETS,

EERS) O=14KETOTEXTYHAME ! @ =l - B IER

. ‘ sEBE
= ES -G Fub| | S5 .

TExNo. [ op o TR | &R = FE | B [ Mg | REIEH | =
) ! S L = H py [FZMA7|FTEA | i) [=e
- | o AL o | WP | ww (1)

KS-425-HEX M4x07] 1525 | 6.1 110 | 64 | 70 | 05 3.0 6.8 500 ASK | @
m
KS-525-HEX = M5x0.8] 1.5-2.5 7.1 12.0 75 8.0 0.5 6.0 11.5 500 ASK [ ]
KS-625-HEX | = 1.0-25 140 500 ASK | @
M6 x 1.0 9.1 9.6 10.0 0.5 11.0 16.5
KS-640-HEX | T 2.5-4.0 15.5 500 ASK [ ]
KS-825-HEX | | 1.0-25 155 500 ASK | @
b [M8x1.25 11.1 11.9 12.0 0.5 20.0 25.0
KS-840-HEX 2.5-4.0 17.0 500 ASK [ ]
S g SEE
Z BT +Tv b L = >

Z3EXNo. . TR | 2R HEE | BEE AE | IREIEHR | e
(=) MWE| % | wmE $i W &= (H) py [Forr|avens| s | ) |me
an NR: /

(M) (t) (D) (N-m) | (KN)
DS-415-HEX 0.5-1.5 10.3 500 ASK [ ]
M4 x0.7 6.1 6.4 9.3 0.8 5.0 6.8
DS-425-HEX | % 15-25 113 500 ASK | @
DS-525-HEX Bl M5x0.8] 1.5-2.5 8.1 125 7.5 10.3 1.0 8.5 115 500 ASK [ ]
Zs
DS-625-HEX 1.0-25 15.0 500 ASK | @
F | M6x1.0 9.1 9.6 12.3 15 15.0 16.5
DS-640-HEX | 2.5-4.0 16.5 500 ASK [ ]
DS-825-HEX | /v 1.0-25 165 500 ASK | @
M8 x 1.25 11.1 11.9 14.3 15 26.0 25.0
DS-840-HEX 2.5-4.0 18.0 500 ASK [ ]
.o § BSEBE
E A Tk — = -~

Z3EXNo. B BN o TR 2K & BE | BEe g KBS | wE
(RBE) - SO D I I GO NGO N i i P S OV =
= o | o (D) wem |

KSS-425-HEX| M | M4x0.7| 1.0-2.5 6.1 11 6.4 7.0 0.5 4.4 7.4 250 ASK [ ]
=

Kss-525-HEX| = | M5x08| 1.0-25 | 7.1 12 75 | 80 | 05 93 10.8 250 ASK | @
s

KSS-625-HEX > M6x1.0| 1.0-2.5 9.1 14 9.6 10.0 0.5 16.7 18.0 250 ASK [ ]

KSS-825-HEX| + |M8x1.2s] 1.0-25 | 111 | 155 | 119 | 120 | 05 | 275 | 216 250 ASK | @

[F5Ic, HROIRIHNTHECRRIBEY V7L (EEROBS) PEAOIRELATETT


https://fujirokku.jp/newpage3.html

